A = 0 & AF & & A A

FENm 9 25 X8 CCET
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
24t 30,453,716 14,375,004 16,078,712
=2 11,578,274
Al 18,875,442
9 g5 N 30,241,112 14,203,650 16,037,462
= 11,578,274
Al 18,662,838
S 2 dXxel XN 16,540, 112 12,517,650 4,022,462
= 6,268,274
Al 10,271,838
g3 =& 2 dxel N 6,206,900 4,893,300 1,313,600
201 L B2 F Hl 5,400 5,400 0
01 At 2teldl 2,900 2,900 0
OFEEM 2 E229H| 2,900, 000& 2,900
03 HAt2HHI 2,500 2,500 0
oxydggiel f3s € EE3 M= 2,500, 000& 2,500
202 o4 Hl 1,800 1,800 0
01 2UHoi bl 1,800 1,800 0
OFEE™ 2 A3a A L WD
1,800, 000& 1,800
203 Y S =&l 3,600 3,600 0
03 Al M =&Y 2= 3,600 3,600 0
OFEEM 2dH PR=FA 3,600,000 3,600
06 == 6,025, 100 4,627,000 1,398,100
01 &93 6,025, 100 4,627,000 1,398,100
OelddE HAEXA(=S LieH) 185,000, 000& 185,000
OMEHES <& Dream for 2HSE
3,540, 100, 000& 3,540, 100
Oold MAEEY EEHEQE 1,200,000, 000& 1,200,000
OFELNE 20| 22N XA
1,100,000, 000& 1,100,000
307 glz2tol & 171,000 255,000 A 84,000
02 QI+A AR E X 171,000 255,000 A 84,000
OFY 5 T2 61,000, 000& 61,000
OXNYGAHE All Job MHIA ZZ78 50,000,000 50,000
OAIZIOIOIE&BioF Z X &5 Z2 0
30,000, 000& 30,000
OFBAZ Step Up HelIHE T2
30,000, 000& 30,000




5,310,000

8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
IFEEZ2 RRIIX 2 (2E) 690,000 610,000 80,000
308 Xt Xl A S0l & 690,000 610,000 80,000
1 SI2S0Het & H &AL I 690,000 610,000 80,000
Oold #E32t RRIIX 2L (A EF) 590,000,000 590,000
OFY OtSAHY KJAAMS(FH00A, "228HAl)
100,000, 000& 100,000
ANAF=cs FEA NN AN (HE) 7,271,802 5,655,000 1,616,802
= 3,896,864
Al 3,374,938
308 AtXIEHHMS0I& 7,271,802 5,655,000 1,616,802
= 3,896,864
Al 3,374,938
1 SI2S0Het & H &AL I 7,271,802 5,655,000 1,616,802
OFZIIY dELRel XNAY 2,404,068, 000& 2,404,068
= 1,292,508
Al 1,111,560
OXNSdE SAIY ELRel XA
845,009, 000& 845,009
= 454,306
Al 390,703
OoldE ANEFHAMIY dEL el XA
360,850,000& 360,850
= 181,300
Al 179,550
Od XNodataey dEF LRl A
3,661,875,000& 3,661,875
= 1,968,750
Al 1,693,125
ANAx=cd HHLdTel AL (XE) 2,371,410 1,359,350 1,012,060
= 2,371,410
308 Xt Xl A S0l & 2,371,410 1,359,350 1,012,060
= 2,371,410
01 "IXNSHILEES 2,371,410 1,359,350 1,012,060
OXNEx=cs dEHLXel XA (2,7 X&)
2,371,410,000& 2,371,410
= 2,371,410
HEsAY =X 13,701,000 1,686,000 12,015,000
=




s MAAHFIRS
2 N HEIHY
¥ o UM Y S N CERED
AN - 2N - FH - SHA(SAH) - MREAY - BES Ofl &+ o Oaﬂgi Hns
HUgsAY =X Al 8,391,000
HUES XEAY 2,186,000 1,186,000 1,000,000
306 2213 2,186,000 1,186,000 1,000,000
01 2013 2,186,000 1,186,000 1,000,000
OSEMIANE XHAY 2,186,000, 0002 2,186,000
F.29 HU BN HIE NAY 600,000 500,000 100,000
306 2013 600,000 500,000 100,000
NEEE 600,000 500,000 100,000
OHUY 2H HIg NAAY 600,000,0002! 600,000
HU 2H UIE KA (BAXR) 7,965,000 0 7,965,000
= 5,310,000
Al 2,655,000
308 X+ X HH S 0| & 7,965,000 0 7,965,000
= 5,310,000
Al 2,655,000
IR ERES] 7,965,000 0 7,965,000
OHUE 2H S8 NAMNY(BAXY, 2X)
7,965,000,0002 7,965,000
= 5,310,000
Al 2,655,000
A BN HIE KA (SAIKIR) (KA 2,700,000 0 2,700,000
308 X+ X £t H S 01 & 2,700,000 0 2,700,000
0l HXESHBLRES 2,700,000 0 2,700,000
OBUY 2N Sg NAAMA(BAXE, XH)
2,700,000,0002 2,700,000
OlF HE 2 2H0IM (NN G 200,000 0 200,000
308 X+ X £t H S 01 & 200,000 0 200,000
11 BII2SHHS B A X SIS A Y] 200,000 0 200,000
Ol® B 22 2H0IN (N4 243
200,000,0002 200,000
HU 2EE WE 22 AL 50,000 0 50,000
308 XX EHH S 01 & 50,000 0 50,000
11 BSOS B ARSI A ] 50,000 0 50,000
OB XS W & N (FOI0L, 208
Al) 50,000, 0002 50,000
UM 22 2 M 192,500 152,000 40,500
Uz 22 192,500 82,000 110,500
|
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